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Separation of two-neutron-hits

[.  Hit collection

. Event &, 2t2t9| bar detector(S1Af & 1607}) 0| A{, energy deposit 0| threshold & H0{7}=
A2l Azt IX], deposit El energyl| (t, x, y, z, dE) S2| B (hit information)E 7.

II. Separation of hits
. 2t 2Eo| stack Of| A, S 2| X| 2| bar detector Of threshold O|At9| Al
ANZt &0 =2 HE.
« group: &2 TERO| Qg AT A= FEE[= hit 22| 2.
S A & A2t Z4F O|891G, hit 52 group 22 ZFSHCL
. OF= 0Tl group £2| 7§27} BWALEl neutron 7|2 & X|S} 11, ZHZEO| group Of =St hit 2|
eventID 7} LX|St=X|(Z2 SMXt0f o|sf A ZI hit Q1X]) =tQl.
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Neutron coming rate in radius

300 MeV o ZMXI7} 2t2t0| stack & AILIEA T HE

Event = : 10000

Stack ZF 7+ : 40 cm, 60 cm

Threshold : 10 MeV
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Neutron coming rate in radius (%)
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Neutron coming rate in radius (gap = 40 cm)

axis : 3“” TARIKE 7|22, 47| =& 7= AH
-y BEY0AM A

axis : ZPFOI stack O] AKX = AMSE = HHE (< x)0| E0{= Al
>y = (@38 (<o Soes t=2]

7H=r) / (Stack O AKX = gg_

Black : 1st stack
Red : 2" stack

Blue : 4th stack

2| 7H=)

Zt stack0]| AKX =
89 % 7F E0j=

1st stack : 30 cm
2nd stack : 50 cm
3rd stack : 70 cm
4th stack : 70 cm

hitz2
HHE

| | | | | | | | | | |
200 400 600 800 1000

Radius (mm)




Neutron coming rate in radius (gap = 60 cm)
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Separation Efficiency

Separation efficiency
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Discussion

*  When the distance between the neutrons is smaller than 40 cm, the separation
efficiency drops sharply.

» Other conditions in algorithm are needed.



